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44- 1 know a person who thinks he is the best in the class and every body should

like him . Actually he is very ................

—sll)generous <)selfish z)nervous J)pleasant

45- | saw my school teachers .............. cars near thewall .............. our school yard
(0] S

«dll) * —of - Sunday <) * - of- Sundays

z) ‘s - of - Sunday )) ‘s - “s-Sunday

46-which one is not correct?

«ll)He put the plates on the table last night.
<) She makes special meal every year.
z) I am not never late for school.

)My friends are watching the fireworks .
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47- A: Listen carefully ! 1 think someone ...... the piano. Do you hear ..?

B:1 don't think so .

<ll) plays - them <)is playing - it
z) are playing - them 3) plays - it

48- In our country ,on Yalda Night, People celebrate the ...........ccc oo

<all) shortest night of the year <)the longest night of spring

z)shortest night of fall J)longest night of the year

$ o)l dga g i oLl M ) e

49- How many mistakes are there in this passage ?

Last week my friend invited me to a village near a river. There was tall trees
and beautiful flowers .The water of the river were clean and cool. We not use
our computers or mobiles a lot. But we enjoy the trip.

<l two <)three z)four )five

50- All the players ...................the national anthem of their countries
..................... the games.

<lread-after  <)read-before z)sing-before J)sing-after
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